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Wes� Bengal St8:te University 
B.A./B.Sc./B.Com. ( Honours, Major, General) Examinations, 2012

PART- I 

ECONOMICS - HONOURS 

Paper - I 

( NEW & OLD SYLLABUS ) 

Duration : 4 Hours J [ Full Marks : I 00 

1. 

The figures in the margin indicate full marks. 

ffi�'?t ����� 91cf�� � 1 • 

Group-A 

Answer any three questions : 

C<l C--� � �� �'G� �.::i 

3 X 4 = 12 

a) How can you use budget lines and indifference curves to show that a gift in kind

increases consumption opportunities less than does an equal cash gift ?

qf�b � -e Rm� c:� �mr '5fl9fR �'5TC4 01�· � !t� '511<P1rn � C<PR ��

--!<;fl,f �� ��q �� CDCTI � Ci5Tl'>Rr �� � � � ?
b) When the consumer spends her entire income on two goods, X and Y, it is not

possible for both the goods to be either inferior or luxury goods. Discuss.

C<.1>FT � � � �'?f '>'F4_9 '5f�XJ � !M'T X l.!l<!� Y � iSfr{j <Im �. � � � �

<35�.:f-.S l.!l�� �it '51'�1 Ff<.iPT RI 1<-W 9fml .:fl I �fG '5!1W!T� '<f)� I

c) Consider the production function Q = v:x , K il , a., p > 0 . Under what restrictions
on a. and P the production function exhibit diminishing marginal productivities
for both factors ?

� '@'�9fl� '5fl� f<iC.ql5-iJ �

Q.:: L0
, KP , a., � > 0 I a -.S � -� �9@ f<ts � '51IBn91 � �'9f!IW{ �� ffl

@-911�� �PTm� � ��'i>fN� 2f<l'5P'I <r>� ? 
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2. 

d) Consider a cost function c (a) :o Q2 + 1. where Q is the quantity of output. Draw

the AVC, AC & MC curves and show that at a level of output where AC reaches

minimum. AC= MC.

c {a) , Q2 , l ,!I� �BJ �Cl>f��ft 14C4�1 �-�..i 0T�C..i Q �C� -�e.9fl'1C�� . ��'l I � 

9fKl<l��'-1 <IBL <ST\!;: <IBJ t.!l<I� �SI� .:irn ,�� f.rcrn <f)�� ,!l<I� '"'�"'· ,� ©°e.9flvt�� � �� 'f� 

cfBI �"1R� �HI. C">l�C.-1 �\);, <l"BI == �� <ff?.l �C<I 1 

e) Consider the production function Q - SL+ lOK, where Q is total output, Land K

are the quantity of labour and capital employed. Find two input bundles on

isoquant for Q = 100. What is the slope of the isoquant '? What docs the

isoquant look like graphically ? What laws does it violate ?

Q. SL t 10K @·e.�\f..i �9f'lf><!)t°t �C<lb.fl <!)�� ��,.,. Q �-c� �e.9fl1fC.ff:I 9<Rl�'l. L t.!l<rt K

llQST� ��\, 5� '8 '1c-f'fC-«I �1:1 I Q = 100 ,rooe.9fsf C�� '!_1t @°9f1WFI '1�?-1 f.li4"1 � I 

t.!I� >rooe.9fi:I ��� � �9f ?fe<J ? �� 'f00'.9fsf ,��� � �91 � ? 1$tt �

�C<!) 11l�l ��� � ? 

Answer any one question } X 8 = 8 

a) How can you define a fixed proportion production function ? What will be the 

shapes of TP, AP and. MP curves ? Does fixed proportion production function

necessarily imply constant returns to scale? 2 + 4 + 2

b) Show that the diminishing marginal utility is neither necessary nor sufficient for

convexity of an indifference curve.

'"'�"' ,� �<!)m R�c9f'if> ,��� '5'<3G'\ 15j'J,� -ef".:n iil"�sr>'l�.:i � �9fl111� l.!l<f5t �<rfitr4S '51"�

91"1 � lrf� �� I 
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c) . How can you derive the long-run equilibrium condition for a pe.rfectly
competitive firm ? Trace out the adjustment process in response to short-run profit 
motivation and mention the investing features of the long-run equilibrium. 

4 + 2 + 2 

9f� W5�\51�¢1<15 � �"cf<P1'41�· '6l<!Pll�! � ™ �<fo, ? �l#iF � �2!1� � 

� C<l �� � "'1 ·RTfM � \£1-f� ��� ��� ftMl<lS�<P ��fc, ���I 

Answer any two questions 2 X 15 = 30

a) 

b) 

i) Distinguish between the Hicks approach. and the Slutsky approach
relating to the decomposition of price effect into income effect and
substitution effect. 10

ii) If the two goods under co'nsiqeration are perfect complements, show how
the price effect coincides· with income effect. 5

i) �� 2r� '51TIT � '8 � �m ��� �i!l �<Pl -.e �fGRr.� �9nl 9fl(�r

�RI

ii) � ;_ft !11� \£1 -� \!ii'� 9ffu,-:<1<1S � '5C<f � � � f<ts� � �� �� � I

i) A consumer consumes two goods q
1 

& % and pr_efers any .bundle with

more q1 �egardless of the amo.unt of q2 in the bundle. At the same time, if

two bundles contain equal amount of % , then he prefers the one with

more q2 . Draw an indifference map to present these preferences. If you

are not able. to draw such indifference curves, briefly explain which axiom
of choice has been violated in this case. 6 + 2

· ii) · State the weak axiom and strong axi�m of revealed preference. An
individual buys 5 units each of two goods when both the prices are equal 
to one. Suppose prices of two goods change to Re. 0·8 and Rs. l ·2 and he 
buys 8 and 3 units of two goods respectively. Is his behaviour consi:•ent 
with the axiom of revealed preference ? Explain using diagram. 2 + .l + 3 
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i) 

76 

l!l�-, ,�1-e,1 q
1 

l!l�� q
2 

,:re- �<11 C'51'5'f <1>c�.q l!l�� c� �Q.J q
1 

-l!l� 9f�ct c�M �<1>e<1. 

q2 -l!l� 9f1.�Cj �� �14> -TI c<1>.;i, �� >f)f°�ro C�Te>1 C<fM �.q <)')C�rf I \£1<1>� � 1t

�of�� �Wn \£1<:f)� 9ff<Nlct q
1 

�<l>Cci, �l\!> C<fP"I q2 \!>1�. c'51m �� <P@--l I l!l� ����

9f�r�'"* �9f��l'!> f.:l�c� m--if� R��ci <1>�.:i , � H�c� c�� \!il�-:., <1>� >t�� � !111. 

ffl" M"4Jor� Cffl �:f31�f6- c,f� �� '-'1 ���C9f f<l�ct <I>� I 

ii) C�\, �Ci\t� ,_<f.., -a <)')� �:��fc-1 i�� <1>�-, 1 l!l<r> <rrfo, 'f.ffi �c<11� 2foor<1>1G

s l!l<:35'<:JS i1l>"1l <)')r�� �� �itl11 !fC<rl?! � l!J(f)C<I>� (l!J<1>) >fm.:r1 �·�1 lfl<lS !ir<11 �<1 vff�

�°" �� 0·8 bf<fSl l!l<1� l ·20 �<Pl �Ci �<f� d <111& �<II 'fffi� ��Jl>C-1 8 �<!>cf> �<1� 3.. 
l!l� � <R� I C'5'f16�'t'-' �c�� �� <11� �Tb�Cf �l.J@PH9l_Gf f<r> ? �C'-'l� ��wrr

<m��I

c) i) · · 
With one variable factor of production identtfy, the three stages of

d) 

production according to returns to the factor and hence explain which 

stages experiences efficient production and why ? 8 

ii) Discuss the relation, if any, exists between returns to scale and the shape

of the long-run average cost curve. 7

i) l!l� 9f���c, t9fl�lC<-!� �C9f� ('s�9fTi.rc.q� ™fG �nTC<l'> R��ct .qi�� J l!l� 2f)f�

<m� <1>:<Ff C<lST-1 � 1.{'lf �E?.9fl"f-f � l!l<1� �

ii) � 9fBl�""R" �lfTC--f� � ���--r ,;i� <inr c�� '51T''fK,� f<r> C<)')Ff �<ts '5fl� ?

��I

i) Give the concepts of consumers' surplus and producers' surpluses. What

will be the impact of a tax on consumer and producer when the supply

curve is perfectly elastic and perfectly inelastic ? 4+4+3

ii) If the utility of each goods is independent of the quantity of the other

goods, then show that all goods must have positive income elasticities. 4

i) C-�1'<3>BI ��-\$ '6 ©-C't·fl'\9>� ��c� �rn91 �� I ��.-1 Clfl'>ll� �-� .91� fii�9f� '6 ,�

�1ll9f<l'> ��� <15� �lc.<1TC� � ·cc, C�l'@I '6 ��H @-9f� f.f;�91 2!�1<l 911!?(<1 ?

ii) � 21�1� �C<1l� l:59WJT� ��f fK<ffi:l 9fM"iffC� -@91� R-§� �, <t>C:<1 � ci.r�.:i- � ��

� ·'5rrn-�11:19f<l5"1 �--fl�� 1
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Group-B 
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Answer any three questions 

a) What is supply shock? Give some examples of supply shock.

3 X 4 = 12· 

· b) Define LM curve. What are the factors that determine the slope of LM curve?

c) Can a fall in money supply explain decline in income with falling interest rate ?
Answer with the help of IS-LM model.

�4 �'STF{ � �� f<p � � �� "l'RQJ � � � <m� � l:Jrn

IS-LM �� �ttlT �� ffi I 

d) Distinguish between GDP and GNP.

GDP t.!I�� GNP-�� 9fl� � I

e) What will be the effect of expected disinflation in the IS-LM model?

Find out the impact of tax cut for those who invest in new capital on the 
equilibrium rate of interest in the classical model. 

:w@f� � -4r�, � �� �� AAcm'>t � � <r>� � � �,�:i>11�1 � � 

t�f<l>����I 

g) What are the conjectures made by Keynes about the consumption function?
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5. 

6. 

Answer any one question 1 X 8 = 8 

a) Show that in an open economy, GDP is equal to the sum of consumption,
investment, govt. expenditure and net export. With the help of National Income
identity, show that the difference between saving and investment is equal to the
sum of budget deficit and net export. 3 + 5

�QT,�� '5f�N5<X> GDP� "51�, ��. '$f� � �(f� � �@Ff:<f QTI�I

� '51m �GRf � � QT '1�'N '8 mCTTR� 9ft� �-a, � � �<
f

� �� ���

b) "The impact of fiscal policy stimulus depends upon the monetary policy adopted
by the monetary authority." Explain the validity of the statement. 8

"�!Tc, �� ���a'l\51 �� .<!>(<I '51Tf�� ')f�1J.@ ��'\:) � �9j� 1"

C�fu.<IS.,_,I �� � I

c) How will you derive agg1egate demand. curve from the IS-LM model ? What
causes aggregate demand curve to shift? 6 + 2

IS-LM ��,<if� Jfl�lQ.ll �19fM f<r>�TC<I ">rf�IB<P b��l ,�� \bf�-, <P�C<l'1 ? JfT�IB<f) D�"fl ,�� �

<Pl�� �., 9iM� �,� ?

Answer any two questions : 2 X } 5::: 30 

a) Define and derive govt. expenditure multiplier and tax multiplier in the simple
Keynesian model. Between these two muli.iplicrs which provides more certainty
to achieve the desired effect on income ? Explain. 10 + 5

>i�¢f �� �l\!,--C-<if '>l�<PlM <ffiJ. �'1� �<f� �� ��CW.<l >!�� Wf ��� '5Wt� �rf R1if�'1 <P�-f I

�� � �'ft�,q- �lln C<PT-i,ffi � 9fl.<f"�� �C\lr �� �"b�\'51� ��l� "Jfi � 9ffC� ? <f!l�

<t)�rl I
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b) What is IS c::urve ? What are the factors that determine the slope of the

IS curve ? Give the loapable fund interpretation of IS curve.

What will be the impacts of the following on the IS curve ?

i) Pessimistic behaviour of investors about the future of the economy.

ii) Reduction in consumer's confidence in the economy. 2+3+6+4 

� �<nrofci f<l5'5Tl<!" IS ��<IS � � ? 

i) '51'�� \Sfq<f!� �c4s f<@!nrr'>f<t)TID� �'5P'IT'91-r� m��

ii) '51'�� C\ST'@l� '51T�� ·gi-,, I

c) i) . "Money matters in the short-run, not in the long-run." Explain the

statement in the light of the aggregate demand and aggregate supply 

frame work. 

ii) . Using IS-LM mode, discuss the circumstances in which fiscal expansion
leads to full crowding out and no crowding out. 7 + 8

i) "'1:51� W�� qSl��i) �. � �,, - �� �-fl � �� Clll�� 9frnwf�

�� '@fu,it <HT� '<P.4'� I

ii) IS-LM ��� �T�l� ��l1 �of C-�T�, 9!Rlf�� �lTG'f ��T�� "f'4_cf crowding

out�· \£l'if� �Fl. 91RIMtNJc-, \£1�� crowding out'<!� .:ii I 
d) Briefly explain how the equilibrium rate of interest is determined in the classical

model. Find out the effect of (i) increase in govt. expenditure and

(ii) technological innovation on the equilibrium interest rate. 9 + 3 + 3 

�"Ire, ��WI �HPH�l � �1� � � �� � ')'J��91 151ll¢11�1 � I � � 

�re� f� �i<r � � (i) )1�qStHI �rn � 9frn \£1<1'� (ii) ��� � '<!ti, ? 
e) What is the difference between the empirically observed short-run and long-run

con�umption functions ? How do you reconcile the difference in terms of Ando-

Modigliani theory of consumption function ? 5 + 10

IS C~~ <fl~ er~· ? IS ~~ r,1c'I ~"f'!f ~~~ l<J5 f<r$ ? IS @~ ~"f'QTI"if ~G-1 ~ 

'51Wlwn ~ I 

~~ ~~ 91~¢1~ ?ffi~ '6 ~~m 001"1 '51t~C~ 9fl~l ~ltc1~ ~~~ I Ando­

Modigliani-~~ C~l'>l ~ ~~ ~~ 9fl<ifl<l5"~ ~~~~~~<HT~~~ I 
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West Bengal State University 

B.A./B.Sc./B.Com. ( Honours, Major, General ) Examinations, 2012

PART-I 

ECONOMICS-HONOURS 

Paper - II 

( NEW & OLD SYLLABUS ) 

Duration : 4 Hours I I Full Marks: 100 

1. 

The figures in the margin indicate full marks. 

ffi�� ")J��m�� 'l>f.��'IN� C\.fIT� I 

( NEW SYLLABUS ) 

Group-A 

�� <J 

Answer any three questions : 3 X 4: 12 

a) Give some examples where the median or mode rather than A.M. would be the
proper form of average. 4

��<fjfe @t.rl��� � C��Crl �.�<f) '5f� ;i�. �l:lfill .q1 'i��ll�� 'ill� ?.!·c.q '5fC\!?� @9f1i.'<3> �91 I 

b} With suitable example, distinguish between discrete variable and continuous
variable. 4

c) If y = a 1- bx and M
0 

is the mode of x, then show that the mode of y must be

4 

a i-bM
0 

1 

d) If the average monthly income of the workers in a factory is Rs. 520 and the
average monthly incomes of male workers and female workers are Rs. 540 and
Rs. 460 respectively, find the percentage of male workers and female workers in
the factory. 4

��� 1£l� 451��..irn afir�@?-1 � �m1� -sr� 520 1'T�1 1£l<n 9!"�<1 � '3 �vii !!fW�t'f�

ffl� �mr� 'Sf� l.lQIT�� 540 t,T.qs'( '6 460 t,T<l)l, "� 9f"�<l '6 �O'fT� ��� -Ml�c-1 f.rcrn

���I

a -1 bM0 . 

~ y "· a + bx ~~- ~"if~ x -~~ ,r~~ll~~ ~Tri M
0 

~~ - ~ C<l Cl-f~--l Cl.I y -~~ >f~~ll~4i ~..i ~1.:<:l 
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e) The mean and standard deviation of height readings of a group of employees of a

firm are found lo be 172 cm and 18 cm, while the same measures for their

weight readings are 65 kg and 9 kg. Compare the variability of height readings

with that of weight readings. 4 

l.!l<t>lf� <t>,m� @tt>\!>T� ,;i� '6 "1�<35 f<i£{K, �Ci �Qff<.{}>� 172 c>1fii l.!l<I� 18 C>'I� l.!l<I� '-'f�� '6etC.f� 

,;i'.!? -e >1�� f<l�1R, �� �w�� 65 c• � 9 ,�� 1 @-tt>�1 -e -e�,..i� �� �;i1 ���, 
Answer any one question )x8=8 

a) i)

ii) 

Suppose a variable x assumes the values a and band { n - 2) other values 

are equal to a I b . Show that the standard deviation of the variable
2 

. la b 
IS --

hn 
4 

ff:<11 � x �4l� 1.m � �c;-J a '6 b I.!)�� �fitg ( n - 2 ) >R�./f<f) �rr--1� �-re 
a I b -1.!l�

2 

'>l�rl I 21�T'1 �� bc.i� "!�cf> f<r�rM �c;-J" L °:..;} I , 
...;2n 

Write a short note on the measure of skewness. 

21�t<i��1 9f�"iJTC9� @9f� ��ro �d�� m� ro.i,--1, 
4 

b) What do you mean by a time series ? Name different components of a time
series. What are the objectives of analysing different components of a time
series ? 2 + 2 + 4

�o{ � <lc'fl'\, f� � ? l.!l<fl-ft �� ,nm �R @9fl���JG'l� � fc-t� I. f.3"R:,� �9fW'l

f<rew:ic�<1 �-(:iiX!p1,� f<ls f4> ?

Answer any two questions : 2 X } 5 = 30 

Cl.I C<t>T.:i � 21(1!1� @·� �.;.i

a) i) Find the mean and median from the following data : 6 

Class 36-40 41-45 46-50 51-55 56-60 61-65 66-70

Frequency 14 26 40 53 50 37 25 

ca� 36-40 41-45 46-50 51-55 56-60 61-65 66-70

��� 14 26 40 53 50 37 25 
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b) 

ii} Let x be a variable assuming the values 0, 1, 2, 3, ... , k and let
F0, F

1
, F2, F3, ... , Fk be the corresponding cumulative frequencies of the

- 1 k 
greater than type. Show that A.M. of x, x"'"' - 'F, where N is the total 

N� ' 
, ·,1 

frequency. 5 

c�;.;i i.!l�re �� x, x = 0, 1, 2, 3, ... , k �..:i �� <f)t� t �N �9fC�� �--l-t!3� �� �� 

I.{)'>��� 9f��t� ��� F0, F1, F2, F3, ... , F
k 

�1 L \!>C<l Clf�rl Cll. x �<l'J� <S'f'�

,,.. 
X • ..!. LF· ��� N = �n; 9ff�t� I

N i I I 

iii) If A.M. and G.M. of two positive real numbers are 10 and 8 respectively,
find their H.M. 4

i) 

!fl'& <ll<t'<l �·fF�T� ')f�� c��� ''>l� {3 �C�N:rn � ���� IO -e 8. �Cl-t� f<i<I� cinf�

'>l\!? f.r� ��"if I

What is a scatter diagram ·;, Explain how this can be used to indicate the
degree and type of association between two variables. 2 + 4

�11ur� fWl f$ � 1m t>"'f($� lftl:11 �,�� � -e ')f�c,<f �� � � w-,J i.!l� Thill

�\STC� <H<l'�l� ��l �lT � "111� <is�� l

ii) Distinguish between the concept of the correlation and regression of two
variables. 3

'1-re b"1C$� �c� ,i�'>lf\, {3 ��c�-4 ��Gfl� ��1 911�$1 Hc€T¥t <3>�rl,

iii) Find the coefficient of correlation between sales and expenses of the
following ten firms : 6

Fi.rm 1 2 3 4 5 6 7 8 9 10 
Sales 

50 50 55 60 65 65 65 60 60 50 
(in thousand units) 

Expenses 
1 1 13 14 16 16 15 15 14 13 13 

(in thousand rupees) 

�"' 1 2 3 4 5 6 7 8 9 10 

� (�f�l� i.!l<f>t<f)) 50 50 55 60 65 65 65 60 60 50 

�(���) 11 13 14 16 16 15 15 14 13 13 
I 
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Obtain the standard deviation of first n natural numbers. If its value is 
J24 , find n. 4 + 2 

21�� n ���<f) �lFf<!> -,,��m� �<15 Fr� Pl® �<lo-fl � �* � ./24 �. � n-�� 

��<J>�.,, 

ii) If the frequency, mean and standard deviation of two sets of observations
- -

be denoted by n
1
, x 1, cr

1 
and n2, x

2
, cr2 respectively, then show that

N cr 2 = n I cr � + n 2 cr � 1- n I d f -f n 2 d � where N = n1 + n2 1 d
1 

= x 1 - M,
d

2
;;;;. x 2 M and M, cr are the mean and S.D. of the combined set of 

observations. 7 

'l� n
l
. XI' 01 2i'<N �� �(9� 9{[���. cq)f,;r-<t> � '6 � � � ��� 

n
2
, X

2
, cr

2 
'51HI �c:1>�� 9N(�c:rn 9fBPTWn, cinf<;j<t> � '6 � � �. '5r<f � 

N 2 2 2 d2 d2 
� 0 n 1 cr 1 + n 2 er 2 + n 1 1 + n 2 2 8l�C-, N - n, + n

2 • di -= x I M ,
d

2 
- X 

2 
M, M '6 cr >tf'iflC'l\!l �,�� �� �� '$ 'l�<f> R�f� I

iii) What do you mean by coefficient of variation ? 2 

�� �'9(:1:5 � (<fll<IR?

i) What arc the uses of Index number ? 4 

�'!,������?

ii) Compute the Marshall-Edgeworth price index number from the data given
below: 6

Commodity 2005 2010 
Price Quantity Price Quantity 

A 2 74 3 82 
B 5 125 4 140 
C 7 40 6 33 

2005 2010 
�J 

�� �� � �� 

A 2· 74 3 82 
B 5 125 4 140 
C 7 40 6 33 

iii) Out of two lines of regression given by x + 2y - 5 = 0 and 2x + 3y -8 = 0
which one is the regression line of x on y ? Use the equations to find the
means of x and y. 2 + 3
x + 2y - 5 0 �<r� 2x -1 3y -8 � 0 � R°"'�� �� � C<!>l<iJ°tc:'5 x . y-��

\S°� �<f�)'c-f ? � "'i�'rn° 1'.IT� X '6 y-�� � � R® � I

..: 
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Group- B 

�� � 

l. Answer any three questions:
(.l.l (.<f>T<f �ft' ��� �� f?t.;i

3 X 4 = 12 

a) Suppose Y f ( x 1, x2
) is a homogeneous function of degree 1. Prove that

(i) J, 1 x 1 t f12x
2 - 0 and (ii) J11x� -'-- J22

xJ. 2 + 2

'ofC-1 <P.<l>..f Y -- f ( x1
, x

2 
) �<1>� �<r>�ful<r> ��� '51Z:� I �'1 �

2 2 
(i) f11X1 I f12X2 - 0 ��� (ii) f1 IX\ = f22X2 I . 

b) (i) Define indifference curve and isoquant in terms of set notations. (ii) Indicate
Lhe largest and smallest subset of a set. How many subsets can be formed from
a set of n elements';> Explain your answer. 2 + 2
(i) 'c>1"G' fficz.� ��wn R�C9f'1f> c� �<r� �1e,9fR.:i C:4�4 ���1 �� 1 (ii) c-<r>"R �<lsft" 'C$ffi°'-��
1�'3'-1 (!)�� ,��il ''>!Tcf(?lG' ��"1 ��� I �� C<r>l-, 'Qit'-� n ,r��<l5 �9fl'tTrl � �� ���
·,n<W{G"· c� <r>� �rn? �9f-,l� �>a� 'ffi� �-:i,

c) If the marginaJ cost function is MC= 2 t 3)Q + Jo : find the total cost function

F ( Q) , when F ( 1 )  - 21. 4 

�� ffi�<t> � \!iR�<f)\'t MC 2 t 3./o + __ S �. � � �9f'll><I> F ( Q ) � � 'll� 
Jo 

F(l) 21 I 

d) Consider a firm with the production function Q � K05L05 with P
K

= Rs. 9 and 

P,_ 
Rs. 4. I low much of the two factors will the firm use if the desired output is 

c) 

30 units? 4 
.iR <1>� �<!Sfil </>T� te_9ff11., '5fCl>f11f,� �¢'f Q =- K0 5 L0 5 C'll� P

K 
9 � �<3'� 

P1_ 4 tl<r>1 <i>rc4� 4IB<l @-e_9fllof� �� 30 l.!l<r>� �1l ��c� �9ftl1A � � <fl� 9ff�� � 
<f>�C<l ? 

If the total cost function is C 1 Q3 • 3Q2 
1 9Q, find at what level of output AC 

3 
be minimum '1 4 

�w <1rn �C�<f> � C !-Q3 - 3Q2 f 9Q ��. �1�("1 ��9fllof---C�� C<f>f� 9fi.�TC�<l "ITC� � 
3 

<H� ">fOO !W ?

Suppose MRS between two goods X and Y is y, the amount of commodity Y 
consumed. If money income of the consumer is Rs. 100 and price per unit 
commodity Y is Re. 1, find out the equation of price consumption curve and its 
��. 4 
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�c.:i ·.:p-�.q X �<1� Y � !i!C<fT� 2l1�� 9ff�p:f�'6BI �T� (MRS) == y < Y !il<IRt 91�9) i �� Ci1P\51�

\!illRf<P '51TIT 100 1iT<l51 �<r� Y !f"C<IT� �� 1 8<Pl �� \!il<I C�l:bl� -qy� -C�l'>f C"��<f �<!)�9 �<l'� l!l� 

lilc<! R9� �� 1
Answer any one question 

� C-<JSR IS!� �� �� ffi 

lx8=8 

a} Demonstrate that diminishing marginal utility is neither a necessary nor a
sufficient condition for convexity of indifference curve. 8 

b) 

01%� c� ���� ffif� �9f�'>f. R�9f�t�r�rr� @'(3c,\bl� w-:rr lR�� <lT �rnti8i-ih1 � 01<1� 

i) Consider the cost function given by C == c ( Q) = aQ3 + bQ2 + cQ + d . What
should be the appropriate restrictions on the parameters a, b, c, d ? 3

��of · ��"flj <Im ·�rC�<P �c'f C ::..: C ( Q ) .. aQ3 + bQ2 l cQ i· d I a, b, c, d ��

��'>f��r� c�c� � ®t;i� � Re&� Q.fl<:r>T �CTJT�rT 

'>

ii) A firm has the following total cost and demand functions :

C . k Q3 7 · Q2 
·l 11 lQ + 50

Q .-, 100 - P

Docs the cost function satisfy the coefficient restrictions ? Find out the
profit maximizing level of output and amount of maximum profit.

�<Pm <JiTOC<I �w -rrn l!l<f� t5T�� "fC�<f> ��<.£1>01 
1 3 2 C = -- Q - 7 · Q + 1 llQ + 50 
3 

Q :-: 100 . .:.p 

1 + 4 

�� <l'HI \5fl9M>-� �-c-lfi· �t;f�fc, � <l�Q./ �� ��� ? �1 ��T� 

��?flct;r �<f� �� �� 9frl�9 R�9 <15�.-r I 

3. Answer any two questions : 2 x 15 = 30 

C<l C<fSl-1 � ��� �� ·�.;i :

,
�P>,ND,t v. 

a) i) Consider a firm with following demand and cost functions nio��t 
P � � - ax2 and C '- ax

2 + bx + c . Hi �}· l� • 
� 

Find out the output that maximises profit. ,:{. '- · ti. 
�� �� 

�� <Jiffl �T �<l� <lTII \!ifC� f;i��9f : ,:;,.�IBR��h 
. . 

' -� ...... --

P = p - a.x2 �<l'� C = ax2 + bx + c 

c-<P,"'{ 'vf�9 �� 9ffVf.:J '1"�1� ">J4l°�<P· ��c <i ?
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ii) 

86 

A revenue maximising monopolist requires profit of at least Rs. 1500. Its 
demand and cost functions arc P - 304 -· 2q and C = 500 + 4q + 8q2 

. 

b) 

c) 

i) 

Determine its output level and price. Compare these values with those 
that would be achieved un.der profit maximisation. 10 
��ro l�� ">i�W�<f>� �<f>Cti� �-i'R ��\5� 1500 61�1� �� ¢11'5 ��-l'-3 m 1

<J� \!>� bl�lfl �<I� i:ln.l '5fC9f'lf<f> "q�l.£l>� P =-- 304 - 2q ��� c.- 500 + 4q + 8q2 
�.

�C<I ��,iT�r �e_ 9fl'1-{ �q� \;ff'il" R'cnf <r>� I ��:� �� � � "l<llf� �e_ 9ff'tFrn 

9frn�9 �<!'� � � � '<R>� I
Find out the condition for which the production function 
Q = AKa LY - OK - yL, where a, p, e, y > 0 satisfies constant returns to
scale. 

· 
5 

��·����� Q=AK0 lY-OK-yL ( 0J� a,p,0,y>O) .,,�� 

��� � Of�lT� ? 

ii) Given that the producti,on function q = Axf x;-a ( where O < a < 1 , A > 0)
and iso-cost line c = r1 · x1 + r

2 
· x

2 
( where r

1 
and r

2 
are the prices of 

inputs) of a firm, find out the expansion path of.the firm. 5
��ft � ��� '51l9M><l5 q- Axfx;·a (0 <a< 1, A> 0) �·H � �

c -- rl · xl I r
2 

· X2 ( rl �<f� r
2 

� �9fl"tTC.:f� �) I <f'1c.f� .,,��9 9fQJ � � I
I 

iii) Given that the marginal propensity to consume c' ( y) - 0 · 8 + 0 · lY 2 and

i) 

the information that c = Y when Y """" 100 , find the consumption
function c(Y ). 5 

1 
�{&� l\5l'Sl �<f9\51 c' ( y ) · 0 · 8 + 0 · } Y '.2 �<f� C •· Y <J�� Y -= 100 , ��� �� 

'51t�<ti R(BT9 �<Fl I

Consider the following National Income model. : 
Y-=C+J

0 
+G

0 

C-=a+P(Y-T )(a>O;O<P<l) 
T -= y + & · Y ( y > 0, 0 < & < 1) 
Explain the restrictions on the parameters. Determine equilibrium 
national income ( Y *) and also determine the nature of changes in 
equilibrium income in response to changes in G

0 
and y . 2 + 2 + 4 

���������: 

Y -=-C + 1
0 

+ G
0

C=a 1-P(Y T)(a.>O;O<P<l) 
T -' y + o · Y ( y > 0, 0 < & < 1)

9fff:���fc,� i'9f� �'5 f<rlWr�� <ffi�Il � I �T� @Gm � ( Y *) �9 

� �<I� G
0 

'8 y 9f��· �· �· '511� 9f'RI� �� Ff�"f � I 
I 
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ii) Consider the following IS-LM model :

i) 

C � 60 , 0 · 8 YI)
1 - 150 1 Or 

G O 250 The notations have 
T 200 their usual meaning 

Md - 40 -i O · lY ··· lOr 

Ms =-100 

Write the equations of IS and LM curves. Determine the values of 
equilibrium national income and rate of interest by matrix inversion 
method. 2 + 5 

l.!l�fG IS-LM �:u:Q?Wf� 'fm��ct�� �o-t 

C '" 60 , 0 · 8 Y,) 

I ·· 150 l Or

G ':;250 

T � 200 

Md _.,.40 t-O·lY-lOr

M
s "100 

IS l.!l<f� LM-1.!l� ��ct�� fc-1'1--1 l.!l<I� �ir;<}l �9f��ct .l.!J.'$1' �l�f � � '6 

''fl"� ?(lC�� �T�Ptl�I �M M'nl ��-{ I 
In the following market model of coffee and sugar, demand and supply 
functions are given as 
D

e 
; 100- 5Pc - P

S
; S

c
� -20 ·t- 2P

c . 
. 

D
5

-= 80 - 4P5 2P
c

; S
s 

:= -10 t P
s 

Using matrix inversion, determine the equilibrium prices and quantities 
for the two goods. 6 

l.!J� �mi ffl" '6 ffl� 6lf� '6 �'>TR \!llt9f"Jl><I>�� �'-'1 

U
c

:.:: 100 -- 5P
c 

-· P
s

; S
c :.· -20, 2Pc 

D
s

.,..,. 80- 4Ps · 2P
c

; ss .,_ -10 i P
S 

�llUl"l!I f<r9f�\54)�(;G'f� '>ff�l�l ¥r<fl11v� �Hl'>il�l I.fl� '6 91ij�19 f;itfl�G'f ��--11 
ii) Using Cramer's rule in a IS-LM framework, show how equilibrium national

income and rate of interest will change as a result of increase in
(a) autonomous government expenditure and (b) money supply. 9

l.!J� IS-LM �C,!,Cc.1 C@�ll�� �� <ll<l�TII <r>C� �� �1.-Pl�I '9tm '51BI l.!l<I� � ��

�fC<I 9ff�� �C<I � (<IS) ��\!) ���,� <Im l.!J<I� (�) �c�� C<ll'>ll.;i <piai 9ITTI I 
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